ToE BB RN 2B
2024 FE AT T/EN REBUT KB IS 2 (A10/)

Fe | s S Mbss | BEwE | sewsRm | | ERa
50 *fE ik 630 Lsitokrotokk 190027 A10 198744855 86 1 =
9 */NF 1424s%xx455x%280626 A10 1550%*+%889 85 2 =
26 *ET 3209%xkkx5%%050020 A10 1890#**x580 85 2 =
10 *3E 320 2%kkkkkk 1 66763 A10 19824690 84 4 =
47 *BR 12 4109skspskkskx 1 54908 A10 1993#4%+056 84 4 =
15 *EE 3707 skskkokekk072026 A10 1826660 82 6 &
61 *7k 3202skskkskorkx 308426 A10 1386%4%+966 79 7 &
33 EAN = 4507 xxxx44%%058121 A10 1822%x%%]128 78 8 %
72 * I, 370244013521 A10 1806%%*x%492 78 8 &
7 £y 4101 kskkorxxx010075 A10 1556%#%%k235 76 10 &
25 * T A 32024402692 1 A10 1391#%*x%858 76 10 &
27 *{E 3T08%kskk%240323 A10 180 1#+%*969 76 10 4
37 *{R K 320 3skskskrdokkk()1 2422 A10 18864%x%706 76 10 &
39 * LR, 412Txxxx444%k187146 A10 1736%***578 76 10 =
48 *E 370654k 1 08843 A10 1760%%x%711 75 15 &
24 *55 47 3729kkkakx 107389 A10 1785%45%x853 73 16 &
31 o E 3205%kkkokokekk233283 A10 1381508 73 17 &
44 *VE 3202%kkkxxx%286967 A10 1525****880 73 17 =
4 *fEE 3202skkkokekkk ] 76026 A10 1529%x+586 72 19 &
17 *7g 3203 kkkokrckk 65017 A10 1470%%%x922 72 19 =
68 *F 4109%skkkkx4% 110829 A10 1523%%x%97 1 72 19 &
16 *ER 321 3kxkkkx165950 A10 1370%#%%533 71 22 4
19 S X 3205%kkxkk%0 72266 A10 173 13kk%044 71 22 &
8 *7K 4 22023kkkkkk% 176524 A10 1316%*#%555 70 24 =
57 *x3] 71 411 3swkktonkxk(044927 A10 1555%k%%957 70 24 &
29 * 3422xxxkxkkx 121 04X A10 1885****758 67 26 =
56 *F 3208*kskkkkkk 106419 A10 1321%%x%130 63 27 &
1 * A 3209skskkskokokk 254723 A10 1515%kk%676 60 28 &
64 )k E 2306xxxxxxxx065720 A10 1810%##%167 50 29 &
2 *45 371 0%kkkkkokk 175512 A10 1732%%%x737 Bt
3 *HBE BE 370 1 kckorrckx096517 A10 1826445305 (7
5 *F 41 1 4ssonsotonior 42421 A10 1769%%%x609 Bt
6 * 321 Sswkrsrckk 062159 A10 1885613 B
11 *ER 371 3skksrsteroionx( 16524 A10 1828%k+x257 B
12 * B 3209wkt 120019 A10 18855897 i
13 *0 3205%kkkkxk% 222528 A10 1862%%%%183 B
14 *A 3607 Hkrkkrckx29092X A10 182435370 R
18 *F g 3202kkkkkk% 250237 A10 1886%**x288 B
20 * g 3202skkskrkx253016 A10 198045395 TR
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21 *E & 2104sskskskorokor ] 53328 A10 198234%x906 TR
22 *iE A 341 Ikt 101036 A10 1525%**%861 B
23 *NE 3T0THkkoknkx223526 A10 131845285 TR
28 *55 & 3209kskkrkx05151 1 A10 1306%k%x337 %
30 * i Bl 3206%kskskorckx207428 A10 1801 k%160 R
32 *5 3204skkkkrroksk | 35224 A10 1526%**x611 B
34 *>C1E 3625%xkkxk%%210046 A10 158Tskxx424 Bt
35 *H 321 0%kk%xx%%29524 1 A10 1525%**x618 B
36 R A 4201 #xkxkx5k%313613 A10 1398s%4%%278 e
38 *x 7 of 3202skkkkkkk | 57564 A10 1533%**%853 e
40 * AT 3424k %5%x%%070028 A10 1300%%k%653 Eht
41 * 3205%kkkkkx212266 A10 189 1#k#x771 B
42 *F I8 3706**skkskx1 15053 A10 1885%k#x851 e
43 * AR 321 23kt x057629 A10 1506%s%%x161 =
45 *{7, 1523skkskkokokork(076022 A10 1510%k+x786 B
46 = 3408kt 18193X A10 1885898 i
49 *F 321 3skskkrorksk25001X A10 1595%**x569 B
51 *3% 7% 411 4ssortoronon | 96748 A10 159845670 TR
52 *F 411 Towsiokohorkok 227222 A10 155 1 #kkx718 B
53 *B7 142450tk 266323 A10 138345586 TR
54 *E 5 3203skkkkkkk ] 36029 A10 188 1skkxx179 B
55 ok 321 2kt | 33898 A10 1560%3%x190 TR
58 *45 I 321 Iskokrrrksk021529 A10 138 1#x%811 B
59 *fF fF 321 Bskkrtorotk 054665 A10 19854065 R
60 *FH 2303skkokoksroiokk() 14022 A10 153 [#k4x739 B
62 w7 64023kskkk5x1 60029 A10 1585%45x265 TR
63 * ik 4% 3425%*k%xxx%%290825 A10 173 1%xx677 B
65 * 3 4} 321 2%kkkkk%] 53922 A10 1518skskk255 e
66 * R 411 Tk 208408 A10 1325%k%x342 B
67 * K T 3209kxkkkkkk] 12729 A10 1826%##%997 rE
69 *H 1404%%45sk35k% 18762 1 A10 132T*x%%284 B
70 *i 3208skkkkkk3k203028 A10 1815%%x%225 Bt
71 * 5 3426%kkkskorokox ] 72426 A10 1525%k%%705 B
73 *E R 3205%skksckookk 110919 A10 1801 #sksk130 =
74 i 3622skskkskoronox 1 70224 A10 1538%k+%381 e
75 *g 3 340 Lsskokokoriokk 105009 A10 1525%k+x318 B




